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QUESTION 1

You want to define infrastructure validation for MYDOMAIN, which is based on SVR_INT64. Which validation property
can you define for MYDOMAIN? 

A. Pattern_Match. 

B. Enable_Validation. 

C. Maximum_Size. 

D. Custom_Validation_Function_Name. 

Correct Answer: D 

 

QUESTION 2

When customizing out-of-the-box (OOTB) artifacts in RSA, which customization is compliant? 

A. Modifying relationships in place between OOTB classes. 

B. Assigning OOTB structs to other OOTB structs. 

C. Creating a new foreign key where the OOTB Entity is the child. 

D. Assigning a custom struct to an OOTB struct or entity. 

Correct Answer: A 

 

QUESTION 3

You need to return the total number of people who are under 21 and not studying or in employment. Which operation is
the most suitable to define for the Person Entity? 

A. readmulti 

B. nsreadmulti 

C. nkreadmulti 

D. ns. 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/r_SERMOD_Operations6NonstandardReadmultiGeneratedSql1.html 

 

QUESTION 4
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Suppose that you created a new Process class in your model and performed a build generated command. 

What do you need to do next? 

A. Implement the methods in the generated impl version of the class. 

B. Copy the generated impl class from the build/svr/gen/temp folder into the impl package. 

C. Implement the modeled methods in the base class. 

D. Create a new class in the impl package. 

Correct Answer: D 

 

QUESTION 5

Which two values are valid for he MODE attribute of the MENU element? (Choose two.) 

A. EXPANDABLE 

B. IN_PAGE_NAVIGATION 

C. TRUE 

D. FALSE 

E. WIZARD_PROGRESS_BAR 

Correct Answer: CD 

 

QUESTION 6

Which statement describes the purpose of the Persistence Infrastructure Adapter? 

A. It translates high-level data requests to entity operations. 

B. It maps calls from façade classes to handcrafted process classes. 

C. It dispatches persistence events to their listeners. 

D. It binds Entity interfaces to replaceable implementations. 

Correct Answer: A 

 

 

QUESTION 7

Which two of the following are stored in the datamanager_config.xml file? (Choose two.) 

A. Database table names used by the application. 

C1000-004 PDF Dumps | C1000-004 Study Guide | C1000-004 Braindumps                                3 / 7

https://www.pass4itsure.com/c1000-004.html
https://www.pass4itsure.com/c1000-004.html
https://www.pass4itsure.com/c1000-004.html


https://www.pass4itsure.com/c1000-004.html
2024 Latest pass4itsure C1000-004 PDF and VCE dumps Download

B. Database type and port numbers. 

C. References to folders containing DMX files. 

D. References to SQL scripts to be run on a build. 

E. References to CTX files containing code tables to be inserted on a build. 

Correct Answer: BD 

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=6andved=2ahUKEwji4fWq
qIbnAhXEzIUKHYeIDlsQFjAFegQIBRAC
andurl=ftp%3A%2F%2Fftp.support.lotus.com%2Fsoftware%2Fsolutions%2Fcuram% 2F6.0.5.5.3%2Fen%
2Fpdf%2FCuramServerDeveloperGuide.pdfandusg=AOvVaw3ySuCgvFqEPA_Tw8NTC6gw 

 

QUESTION 8

Consider the entity and struct shown in the model: 

A. Type=SampleEntity1, Shadow Type=Key 

B. Type=SampleStruct1, Shadow Type=unspecified 

C. Type=SampleStruct1, Shadow Type=Key 

D. Type=SampleEntity1, Shadow Type=unspecified 

Correct Answer: A 

 

QUESTION 9

Which documentation resource provides a list of configurable validation messages? 

A. IBM Cúram Server Developer\\'s Guide. 

B. JavaDoc. 

C. Analysis Documentation. 
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D. IBM Cúram Development Compliancy Guide. 

Correct Answer: A 

 

 

QUESTION 10

You want to make a field on a page mandatory. 

Which task is valid? 

A. Configure the Allow_Nulls property of the entity\\'s attribute to be set to false. 

B. Configure the Require_Mandatory property of the entity\\'s attribute to be set to true. 

C. Specify the name of the field in the Mandatory_Fields property of the modeled operation\\'s argument struct. 

D. Write a custom Java function to check for a value being present and specify the function on the
Custom_Validation_Function_Name property of the relevant domain definition. 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/ctr_CuramServerModellingGuide.html 

 

QUESTION 11

StructA aggregates two structs, namely, StructB and StructC. 

Which statement about the aggregation is correct? 

A. No two structs in the aggregation can have attributes with the same name. 

B. Unique role names must be specified for the aggregations. 

C. Unique labels must be specified for the aggregations. 

D. Other aggregations cannot include StructA, StructB, or StructC. 

Correct Answer: D 

 

QUESTION 12

Examine this UIM code snippet: How will the field element be displayed in the list? 
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A. As an editable text field. 

B. As a non-editable text field. 

C. As a text field hyperlink. 

D. As a drop-down list field. 

Correct Answer: B 

 

QUESTION 13

Which two class types can be modeled in IBM Cúram SPM? (Choose two.) 

A. default 

B. rest 

C. batch 

D. inboundprocess 
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Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/ctr_CuramServerModellingGuide.html 

 

QUESTION 14

Which entity customization is compliant? 

A. Override a stereotyped operation. 

B. Enable an exit point. 

C. Add an attribute by using subclassing. 

D. Add an attribute by using aggregation. 

Correct Answer: B 

 

QUESTION 15

Which statement about the different approachable to generating unique IDs is true? 

A. A dedicated BPO should be used to generate readable keys. 

B. A programmatic or model-based approach allows a developer to access the unique ID form their code once the key is
generated. 

C. The model-based approach should be used to generate keys from the Default KeySet. 

D. A key set must be specified when using the programmatic approach. 

Correct Answer: D 

 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerDeveloper/c_SERDEV_Unique1UniqueIds1.html 
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